Sl. N regis	lo. – site bills ster		1169.		Date Regis	- site bi	lls	18	123	
Company Name:			SOVIL	0 0:44			SON-10			
Nam	ne of Contractor		0	onth		ah				
Natu	ire of work			5 per			2091k			
Wor	k done	Fro	m Date	o yes	Ini	T	Date	10	23	
Sl. No.	Villa/Flat/block no).	Qty.	Rate	112	Units	Amou		Contractors bill no	
1.	Avenbling									
2.	wpc door									
3.	180, 181, 182				1	ļ				
4.	Maindoor	•	3	25	2/2	104	75	Dr		
5. 6.	Balcony.		3	25	DI2	NOS	75			
0. 7.	Ublik		9	251		1992	2,2			
8.	Bathdom		11	255	12	po's		fD1.		
9.	Bedsoom		9	250	1-	Nà	2,2	sph		
10.							1			
11.	T	otal:					8.7	~		
Bill	required	2	ES NO.		GST	bill requi		- SV -	NO.	
Mea	surement &	R	lequired			surement		Enclo		
	nate sheet:	Not required			estimate sheet:		:	Not e		
PO/V	WO no.				PO/V	VO date:				
Rem	arks :									
				,						
APP	PPROVED N	hage	er Appro	oved b	y Desi	ign Team	App	proved by	y M.D.	
Date:		21	Date:				Dat	te:		
Sign:	11 JAN LOZ		Sign:				Sig	n:		
	Lithe water subtration	THE HO		mpleting	work, 2	2. This form			ying labour bills, bi	

Construction division. Advice for giving credit to contractors/suppliers.

Notes: 1. [The utflie date to Rep. aphin 7 days of completing work, 2. This form can be used for certifying labour bills, bills for ningeotimeses that a completion of a contractors, 3. Wherever not applicable – fill NA, 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIM	ATE SHEET						
Compar	ny Name:	Silver Oak Villas LLP					
Project:		Silver Oak Villas					
Work D	Description:	WPC Door frames fittings					
1.141110 0	f the Contractor	Thirupathi Singh					
Prepare	d By	B.Meenakshi					
Date:		17-01-2023					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
	Assembling of WPC Door Fram	es					
	villa no 180,181,182						
1	Main DOor	Assembling of WPC Door Frames	3.00	Nos	250.00	750.00	
2	Balcony	Assembling of WPC Door Frames	3.00	Nos	250.00	750.00	
3	Utility/Head Room/powder room	Assembling of WPC Door Frames	9.00	Nos	250.00	2250.00	
4	Bathrooms	Assembling of WPC Door Frames	11.00	Nos	250.00	2750.00	
5	Bedrooms	Assembling of WPC Door Frames	9.00	Nos	250.00	2250.00	
					Amount:		8,750.0
		Amount: Eight Thousand Seven H	undred Fifty	Rupees	Only		

APPROVED BY K. PURSHOTHAM Project Manager (Silver Oak Villas Part-III)

MEASU	JREMENT SHEET								
Compar	ny Name:	SIlver Oak Villas LLP				Approve	ed by:		
Project:		Silver Oak Villas				Sign:			
Work D	Description:	WPC Door frames fittings				0			
	tor Name	Thirupathi Singh							
Prepare	d By	B.Meenakshi							
Date:	and the second	17-01-2023							
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
	Assembling of WPC Door Frame	s							
	villa no 180,181,182								
1	Main DOor	Assembling of WPC Door Frames	1.00	1.00	1.00	3.00	3.00	Nos	
2	Balcony	Assembling of WPC Door Frames	1.00	1.00	1.00	3.00	3.00	Nos	
3	Utility/Head Room/powder room	Assembling of WPC Door Frames	1.00	1.00	1.00	9.00	9.00	Nos	
4	Bathrooms	Assembling of WPC Door Frames	1.00	1.00	1.00	11.00	11.00	Nos	
5	Bedrooms	Assembling of WPC Door Frames	1.00	1.00	1.00	9.00	9.00	Nos	
									35.00

Bill for Allowance for Equipment

Thirupathi singh Mallapur H.no 3-4-52

Date:17-01-2023

In favor of:	M/s. Silver Oak Villas LLP
Project / Site:	Silver Oak Villas
Location:	Cherlapally
Type of Work:	Civil Work

Towards: Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:- V.no.180,181,182WPC door frames making	Rs.1,750/-
	work dne	
	Total Amount:- 8,750/	
	Work Done from date:11.12.22 to date:10.01.23.	

Amount in words: One Thousand Seven Hundred Fifty Rupees Only/-

Sign: _____

Bill for Allowance for Consumables

Thirupathi singh Mallapur H.no 3-4-52

Date:17-01-2023

In favor of:	M/s. Silver Oak Villas LLP
Project / Site:	Silver Oak Villas
Location:	Cherlapally

Type of Work:Door Fixing WorkTowards:Allowance consumables

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:- V.no.180,181,182WPC door frames making work dne	Rs.3,500/
	Total Amount:- 8,750/	
	Work Done from date:11.12.22 to date:10.01.23.	

Amount in words: Three Thousand Five Hundred Rupees Only/-.

Sign: _____

Bill for Labour Charges

Thirupathi singh Mallapur H.no 3-4-52

Date:17-01-2023

In favor of:	M/s. Silver Oak Villas LLP
Project / Site:	Silver Oak Villas
Location:	Cherlapally
Type of Work:	Door Fixing Work

Towards: Labour Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards:- V.no.180,181,182WPC door frames making	Rs.3,500/
	work dne	
	Total Amount:- 8,750/	
	Work Done from date:11.12.22 to date:10.01.23.	

Amount in words: Three Thousand Five Hundred Rupees Only/-.

Sign: _____